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)1. There is apple on the desk. apple 1s red.

A a; The B-aithe Can;\ D the ; The

)2.---Which would you like, rice or noodles?
-=- 15 OK. I’'m hungry.
A. Either B. Neither C. Both D. All
)3. It 1s a pity that the Korean football team the match by a score of 1:2
A defeated B lost C was defeated D was lost
)4. This novel is my favourite and it makes a(n) to my whole life.
A change B chance C difference D influence
)5. Look! The tree is growing well. When ?

A did 1t plant B was it planted  C is it planted D has it planted
)6. ---Who 1is your hero?

--- My uncle. He his own company when he was only 18 .

A put up B set up Cgotup D grewup
)7. “No parking” means “ &

A You must stop. B You must park your car here

C You mustn’t stop your car here D You must go to the park.
)8. The book is the shelf and I am too short to reach it.

A. at the top of B. on the edge of C. at the bottom of D. in the middle of

)9. Liu Xiang won the first Olympic gold ~ in the 110 m hurdles for China.

A medal B prize C symbol D record

)10.----Could you please help me put up these signs?.

A Thanksalot =B Noway. C It’sa pleasure D It’s very kind of you.
)11.The book 1 put on the desk just now is gone.

A. who B. that C. why D. where

)12.---Have you been to Singapore?

----Yes, I there last year with my friend
Awent B have been Chavegone D go
)13.----Don’t sit too close to the TV. It’s bad for your eyes.

----- Thank you
A No, I don’t. B Yes,Iwill C Yes,please. D Ok, I won’t.
)14. His house is Daming’s, but Daming’s has a small pool.

A. the same as B. similar to C. different from D. as well as
)15. — Why do you look so excited?

= | I have gotten one of my articles published.
A. Guess what  B. Hey, you guys C. Good idea  D. Nothing else

)16. You __take this book out of the library! You can only read it here.
A.maynot B.needn’t C.mustn’t D. shouldn’t
)17.0ur school is 36 classes.

A made of B made from Cmadein D made up of

()19 ---- Can books

( )18 The new park is three times the old one.

A so big as B as bigger as C asbigas D as bigger than
by computers in the future?

---- [ don’t know.
Areplace Breplaced C bereplaced D will be replaced.

( )20.--- Could you please tell me ?

m—

---- For about one hour.
A How long our meeting will last B What you have done today
C What time will your arrive D When did the accident happen

= SEREZT (10 )

Mr. Dawson was an old man with a bad temper, and everyone in the town knew it . Kids
couldn’t go into his yard to picks a delicious 1 , even off the ground.

One Friday , 12-year-old Janet was going to stay all night with her friend Amy. They had to
walk by Dawson’s house 2  the way to Amy’s house. But when they got close to Dawson's
house , Janet saw him 3 in the front porch(|JJi) and suggested they crossed over to

4 side of the street. Like most of the children, she was afraid of the old man 5 the
stories she had heard about him.

Amy told Janet 6_ . Mr. Dawson wouldn’t hurt anyone. Still, Janet was growing __7
nervous with each step closer to the old man’s house. When they get close enough, Dawson
looked up with his usual frown(4%/& 3k), but when he saw it was Amy, he suddenly smiled and

said, ’hello,Miss Amy. I see you have got a little friend with you.”
Amy smiled back and talked with him. Dawson gave them each a peach of his tree . When they

got out ,Janet asked Amy ,”everyone says he is hard to get along with ,but why he 1s so friendly
8. Xer |
Amy said ,”Because I always smiled back to him .It __9_ along time...”
“A smile?” Asked Janet. |
“Yes, my Grandma says smile is contagious(f5 /&% /] HJ). So I smiled at him ,he would really smile
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(  )1.A.apple B. peach C.banana D.grape
( )2A.on B. 1n C. at Gk 1 40
()3 A.stt B. sat C. sitting D. to sit
()4 A. another B. others C. the other D. the others
( )S.A. because B. because of C. as D.if
()6 A. not worry B. not to worry C .not worried D. don’t worry
( )7 A.much B. more C. less D. little
()8 A. with B. for C.to D. at
( )9A.pad B. took C. spent D. cost
( )10 A. sooner or later B. at once C. right now D. just now
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